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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the question paper.

2. Please check the question paper to verify that the total pages and total number of questions contained
in the paper are the same as those prmted on the top of the first page. Also check to see that the
questions are in sequential order.

3. Making any identification mark in the answer-book or writing roll number anywhere other than the
specified places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 36/I1SS/2, Set [A] on the answer-book.

5. (a) The question paper is in English/Hindi medium only. However, if you wish, you can answer in

any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
answer-book.
(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.

TTAT 3T :
1. wlanefl TH-u7 o UEet g8 W AT STgHATH Tawy ford |
2. FUAT UH-UF H ST o R 9 6 F gl qon gwA B It & e € et v gy % wed S ot 21 39 A
ita off @ o foF wed wive w9 ° 2
3. IW-gferer °§ yg=H-fag a9 2rean fifde v & aifife ol oft srgemre foe w wlisneff =t swm e s
4, IO IW-Yfeqsr | 9vH-13 F FIe T 36/1SS/2, T [A] |
5. () mméﬂa%—qﬁ/ﬁﬁaﬁﬁ%lﬁmﬁ aﬁmm%?ﬁﬁ%ﬁnéﬁ%ﬁ@wﬁwémé
aifl, ferdl, 34, wodl, smer, afrd, werEe, 9, Ao, WUdl, Sfear, ToRid!, i, Bfogd, s,
Jureft, Y, wERd i feref|
mwg@wﬁﬁqmwﬁ%@ﬁmmﬁmwﬁw%@l%%l
(@) gam%——cﬁqéziﬁsﬁésaﬁﬁ?ﬁ» foreft a1y st 7 IR forad 2 oA R wmee B 2 areft 3wt /mafaa it e
T Bt |

320/1SS/112A | B.T.0



ACCOUNTANCY
IGICIE T

( Principles and Practice of Financial Accounting )
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Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and B’.

(ii) Al questions from Section ‘A’ are to be attempted.

(iiij Section B’ has got more. than one option. Candidates are required to
attempt questions from one option only.
o () =@ uyE-= A uvs —wve ‘3 ud wrg o |
(i) w@ve ‘e F |l T B EA FAT R
(i) e ‘o Uk ¥ itk fashew B 1 qhenfat it Faet v faemew & & wwl & W 2

SECTION-A
Gus—3A

1. What is the rule relating to profit-sharing ratio between the partners in the
absence of a partnership deed? 1

TEER! Hol@ o A9d T AfgEt § ond-faase o gt frem @ 27

2. Define ‘deferred revenue expenditure’. 1

‘Tafira g =@ i aienfyg i)

3. Give two examples each of ‘tangible assets’ and ‘wasting assets’. 2

el wrIfR qur ‘el Rt o gr-at IaTe S|
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4. Rectify the following error by passing a Journal Entry : 2
The total of the Sales Day Book was overcast by Rs 500

1 a1g1fg 1 UsH=n (Journal) Wi grr wiem <hifsre
o =€t &1 I 500 %o ATt e fea

5. What is the primary purpose of preparing a Bank Reconciliation Statement? 2

S TETET foreor QAR U T MUt 3wy 27

6. Give an example of a transaction which results in—
(a) increase in assets with corresponding increase in capital,

(b) increase and decrease in capital. 2

TRt -39 &1 U W IR i, feraen afomres—
(%) Tty § gig & o 4o & 9fy 8 2;
(@) st ¥ gfg w wH Bt R
7. Raghav and Madhav are partners sharing profits and losses in the ratio of 3 : 2.

They admit a new partner Mohit for a % share in the profits.

Find the sacrificing ratio. 2

TgE TF W99 HIHER € a7 3 : 2 % U H Ay -faursH w21 S5 Hifgd T2 wEen
& w9 H A H L wr % T wem fea

T STIATT FTd hIAT |
8. Briefly explain the three branches of accounting. 3

TR ! ST TrEneTt i g8y | e hifv |

9. Name and explain the concept under which expenses for a period are matched
with the revenues of the same period for proper determination of income. 3

34 Heheu 1 A A AR qon smen fifvi, fres ogeR ety & s @ 3 safy &
st 9§ 3fera e freiwor g foremen s R
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10. Journalise the following transactions :
(i) Salary paid to clerk—Rs 2,000
(ii) Goods sold to Ram for cash—Rs 4,000

=1 S9-21 i AsEEn (Journal) SiETEaT Fifse
(i) & Pl FaT JIAE fHA—2,000 Fo
(ii) TH I Tehe AT s=—4,000 Fo

11. You are given the balance as per the Pass Book and are required to find the
balance as per the Cash Book. List any four causes of difference (between the
Cash Book and the Pass Book) which need to be subtracted from the given Pass
Book balance to ascertain the balance as per the Cash Book.

IR T~ R AT T3 T R G M9t Askg FE w1 AW ;i BT 2| W fRA W R
(kg 2T a1 T-g% H) 3T o FRUT Bl Glag hite, 52 Tohe ot &1 A9 J1a w8 &
T ar-gh o 99 A § wer i v 2

12. What is meant by ‘issue of shares at a premium’? State the purposes for which
share premium amount can be utilised by a company.

‘Tt Rl A WS ﬁwaﬁm%?mmﬁaﬁw oreh fow =g et
131 Wfifiym i it sl yg@ # o wehdl 21

13. Following is the Balance Sheet of Abha, Seema and Meena as on 31st March,

2006 :
Liabilities Amount Assets Amount
Rs ‘ Rs
Bills Payable 10,000 | Building 1,00,000
Reserve Fund 30,000 | Furniture 50,000
Capitals : Stock 50,000
Abha 80,000 Cash 20,000
Seema 60,000

Meena 40,000 1,80,000

2,20,000 2,20,000
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Seema died on 1st October, 2006. Under the terms of the partnership deed, the

executors of the deceased partner were entitled to :

(i) Amount standing to the credit of Partners’ Capital Accounts

(ii) Share of goodwill on the basis of three times the average profits of the past

four years

(i) Interest on capital @ 10% p.a.

(iv) Share of profit from the closing of last financial year to the date of death

on the basis of last year’s profits

Profits for the previous four years were—

Rs
2002-03 20,000
2003-04 25,000
2004-05 15,000
2005-06 20,000

Partners shared profits in the ratio of 2 : 2 : 1.

Draw up Seema’s Capital A/c.

31 O, 2006a%anm,@ﬁmawnﬁmwﬁar%—%ams¥rm%:

To %o
&7 faux 10,000 | wed 1,00,000
AR Y 30,000 | wifer 50,000
oSt EGRI 50,000
1T 80,000 qehal 20,000
Esitei 60,000
o 40,000 | 1,80,000
2,20,000 2,20,000

1 RSN, 2006 I T =l gog 2 T | WERE Hold % STl gad HIeEr & eed @

AR 2

(i) ETEER % ISt @ § S 9 e

(i) A T AT T TR G ok ST A1 A AT b SER R

(i) ISt R 10% aTfies X T =1

(iv) AT % TH &k AER R TG i o & H g9 ¥ geg bt fafdr qeh @y o
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T IR 99 &% o A—

EYe)
2002-03 20,000
2003-04 25,000
2004-05 15,000
2005-06 20,000
WEER 2 : 2 : 1 % IO § oy {3 & 91

i w1 St wre deR ifs)

14. From the following transactions of Royal Toys Shop, prepare—

(a) Debit voucher for wages paid for the month of January 2007 vide Wage
Sheet No. 42 on February 8, 2007—Rs 12,000;

(b) Credit voucher for toys sold for cash vide Cash Memo No. 312-315 on
February 10, 2007—Rs 23,000;

(c) Transfer voucher for depreciation charged on motor lorry @ 10% on book
value of Rs 50,000 on February 28, 2007—Rs 5,000;

(d) Debit voucher for autorickshaw hired Rs 50 on February 28, 2007.

I 2fast T & T TF-a1 | TR HIN

(%) ATH WHTUTE : 8 HIaRI, 2007 & SHad, 2007 6t Bsigd ¥fe Fo 42 TR A5G YTaH
#1 12,000 %o

(@) SHT THIOTR : 10 HEd, 2007 H A AA Fo 312-315 3R Raci At g ot &
T8 TRT 23,000 %o

(7T)  TEATeAROT WHTUTSR : 28 WERl, 2007 o HIX ME W AL 50,000 Fo G Hod
H 10% TR 5,000 o

(") ATH THTOTR : 28 HEdl, 2007 i A e fmra w form 50 %o

15. Pass the necessary Journal Entries for the following transactions :

(i) Sanjay Ltd. forfeited 100 shares of Rs 10 each issued at 20% premium on
which the first call money of Rs 3 was not received; the final call money of
Rs 2 not yet called. These shares were subsequently reissued at Rs 7 per
share as Rs 8 paid-up.

(ii) 400 shares of Rs 10 each issued at a discount of Re 1 were forfeited for
non-payment of allotment money of Rs 3 per share. The first and final call
of Rs 3 not yet called. The forfeited shares were reissued for Rs 3,000
credited as fully paid.

320/ISS/112A 6
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=1 -3t Y eavgs UsAmET (Journal) Ufafsat i -

(i) G f0 7 10 %o At 100 379  Sea Tk, ™2 20% it w frffia fomam mn
AT| 3 I W WY =1 ART 3 Fo Wid 3721 W &1 g3, A" A1 TRT & 2 Fo
areft a7 9 T | e § T I R 7 To Ul W W, T A Tk 8 Fo #i o

™ 8, i @ T mm

(i) 10 %o T 400 319 T2 1 To At W Fniferq foman mam o, 3 %o ufa 27w F 3
TR &1 PIaH T A | Sed H A T 3 Fo YU FT=AT a1 Al IreqT & 1)
€ A T 1 3 Sed T MU STEn @ 3,000 %o quied weR gH:Frifia R femm mm

16. From the following Trial Balance of Naresh Gupta, prepare Trading and Profit &
Loss A/c for the year ending 31st December, 2006 and a Balance Sheet as on

that date :
Dr. Balances Amount Cr. Balances Amount
Rs Rs
Plant & Machinery 1,20,000 | Capital 1,50,000
Bills Receivable 84,000 | Sundry Creditors 40,000
Stock on 1.1.2006 15,000 | Sales 1,50,000
Purchases 60,000 | Loan 50,000
Wages 5,000 | Interest 9,000
Rent 20,000 | Reserve for
Cash 26,000 | Doubtful Debts 1,000
Sundry Debtors 40,000
Bad Debts 18,000
Sales Returns 12,000
4,00,000 4,00,000

Adjustments :

(i) Closing Stock was valued at Rs 36,000

(i) Depreciate Plant & Machinery @ 10% p.a.

(i) Create a Provision for Doubtful Debts at 5% of Debtors

_(iv) Outstanding Wages—Rs 1,000

320/ISS/112A
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17.

T T % e qowe @ 31 iR, 2006 # gUW T A 96 & e R e ae-ae

w@rar qen 3t fafar s ferfa-faawor qar s -
g Y afsr ST 919 I
%o %o
ERERC RNl 1,20,000 | gsft 1,50,000
T fqum 84,000 | fafir oier 40,000
Elaar 1.1.2006 15,000 | fawa 1,50,000
= 60,000 | =1 50,000
Hsigll 5,000 | =a= 9,000
TerTran 20,000 | gfeey srori & fow gfufa 1,000
Tehdl 26,000
fafirs SR 40,000
YT /0T 18,000
IEERICINEN 12,000
4,00,000 4,00,000
THTAISATY :
(i) = TR &1 qe 36,000 Fo o1

(i) TIF T A W 10% Ife o raer@r o 2
(iii) TERI W 5% e o o foTe yraem # 2

(iv) 3Ted AN 1,000 %o B

A firm has two partners X and Y sharing profits in the ratio of 3 : 2. They admit
Z into the firm on 1st January, 2007, when the Balance Sheet of the firm was

as follows :
Liabilities Amount Assets Amount
Rs Rs

Capitals : Fixed Assets 3,60,000
X 3,00,000 Investments 90,000
Y 1,00,000 4,00,000 | Debtors 40,000
General Reserve 75,000 | Stock 60,000
Creditors 70,000 | Cash 20,000

Bills Payable 25,000
5,70,000 5,70,000

8
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Terms of admission are as follows :

(i) Z is to bring Rs 2,00,000 as capital for a third share in future profits and
Rs 35,000 as his share of goodwill

(ii) Value of fixed assets is to be reduced by 20%
(iii) Stock is to be reduced to Rs 50,000

(iv) Capital of the partners shall be proportionate to their profit-sharing ratio,
taking Z’s capital as the base. Excess capital is to be withdrawn in cash by
the partner concerned and the deficiency is to be made up by bringing in
cash

Prepare Partners’ Capital A/cs and the Balance Sheet of the reconstituted firm.

OR

Following was the Balance Sheet of Asha, Usha and Risha as on 31st January,
2007 :

Liabilities Amount ~ Assets Amount
Rs Rs
Creditors 15,000 | Bank 35,000
Bills Payable 18,000 | Bills Receivable 40,000
Asha’s Loan 24,000 | Stock 30,000
Usha’s Brother’s Loan 28,000 | Furniture 1,40,000
General Reserve 30,000 | Land & Building 2,50,000
Capitals :
Asha 2,00,000
Usha 1,00,000
Risha 80,000 3,80,000
4,95,000 4,95,000

The firm was dissolved on the above date on the following terms :

(i) Bills Receivable realised—Rs 38,000; Creditors and Bills Payable were

paid at a discount of 10%

(i) Stock was sold for Rs 35,000 and Furniture was taken over by Risha at
Rs 1,60,000

(iii) Land & Building was sold for Rs 2,90,000

(iv) Realisation Expenses paid by the firm—Rs 6,300
Prepare Realisation A/c, Partners’ Capital A/cs and Bank A/c.

12
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TF 1 F < WEER X qATY F a1 3 : 2 % U § ond-faaee #a #1 1 s9adt, 2007
F IRMH Z H deedl § vaw foar s v o fedrfa-feerer e g o

3gard afsr gRgegtaar afsr
%o %o

LSl A Gr Al 3,60,000

X " 3,00,000 ot 90,000

Y 1,00,000 4,00,000 | =R 40,000

= ITRfafa 75,000 | 60,000

TER 70,000 | ket 20,000
2 fam 25,000

5,70,000 5,70,000

(i) wferea o et # L 9 % fefe Z @ 2,00,000 Fo ISt qen st wAfa % W % fag
35,000 %o oM 8

(ii) TS T 6 Hed ¥ 20% i FH HET R

(iii) TEfad &Y hHd TR 50,000 Fo HEAT B

(iv) Z &GS H AR TR, H@Eﬁ@uﬁﬂﬁ%ﬁﬂﬁ%%mﬁﬁﬁlm
ot @ferh g5l 1 Ueh Tehrerert fehret o it =1 et 261 ehg TR 0 Bl

ISR o YSit @rd o gaifed wd @1 feafa-foemor dam hifsm)

HUAT
31 SHekl, 2007 &t 3T, 30 e i @ ferfa-foemor e v on
o Lo

TER 15,000 | s 35,000
2 faum 18,000 | wre fomm 40,000
ST T /0T 24,000 | wfan 30,000
39T & HTE 1 B 28,000 | Ffer 1,40,000
g farfa 30,000 | fF Tg o= 2,50,000
ESLE

TS - 2,00,000

39T 1,00,000

fam 80,000 | 3,80,000

4,95,000 4,95,000
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=1 vt o Swies fafsr o w1 fomes @

(i) W= foum | 38,000 %o IYA FY; TGN AT <7 faw=i &®l 10% Hrdl W PTaE fowa
IE|

(i) TEfadt ® 35,000 ¥o H S=T TN qUT WA H f@T T 1,60,000 %o B A for
(iii) W TE e H 2,90,000 Fo H 5= =

(iv) HH 3 6,300 %o T T & YIAH FA

AT WA, WEER! % St @i T S @i 4ar Hife)

SECTION-B
Qg9
OPTION-I
foeeu-1

( Analysis of Financial Statements )

( forefta foraont T foarvetyon )

18. (a) From the following information, calculate the Opening Stock and the
Closing Stock : S
Sales during the year—Rs 6,00,000
Gross Profit on cost—20%

Stock Turnover Ratio—5 times
The Opening Stock is Rs 40,000 more than the Closing Stock

et T @ ST Tefen ae i e I IR
T4 & XM fhl—6,00,000 %o
ANTd W b A19—20%
ThY 3MEd IAA—5 TR
TRfries i sifm whmn § 40,000 %o a1fe 2
(b) Current liabilities of a company were Rs 60,000 and its current ratio was
2:5: 1. After this, it paid Rs 20,000 to a creditor.
Calculate the current ratio after the payment. 5
forell ot Sl = SFard 60,000 Fo off qYT TEeRT @IG] U 2-5: 1 ATl THhR
UL, T I T IR H 20,000 Fo N YA fHaT|
WA o IYETq, =Te] 3TATd T1a hif |
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(c) From the following Balance Sheets of XYZ Ltd., you are required to
prepare (i) a statement of sources and uses of funds and (ii) a schedule of

changes in working capital : 10
Liabilities 2005 2006 Assets 2005 2006
Rs Rs Rs Rs
Share Capital 1,25,000 | 1,50,000 | Patents 70,000 65,000
General Reserve 25,000 35,000 | Furniture 25,000 80,000
Profit & Loss A/c 20,000 52,000 | Debtors 73,000 85,000
Creditors 38,000 13,000 | Stock 42,000 33,000
Bills Payable 42,000 50,000 | Cash 40,000 37,000
2,50,000 [ 3,00,000 2,50,000 | 3,00,000
Additional information :
(i) Depreciation of Rs 5,000 was charged on Furniture
(ii) Furniture of the book value of Rs 20,000 was sold at a loss of
Rs 3,000 |
Xyz o & T feufa-foemon @ 2wl () W % @9 g W H1 feRr qen
(if) TR GSft H uftadat it arferent AR w2
aqard 2005 2006 gREEIfET 2005 2006
%o %o %o %o
317 gsit 1,25,000 | 1,50,000 |usw= 70,000 65,000
= ARfafa 25,000 35,000 | &t 25,000 80,000
KIEEAIERCIGI] 20,000 52,000 |21eR 73,000 85,000
TSR 38,000 13,000 | &faa 42,000 33,000
=7 faum 42,000 50,000 | eret 40,000 37,000
2,50,000 | 3,00,000 2,50,000 | 3,00,000
AR G

(i) 5,000 %o HH=R YT AALIV TR AT o1
(ii) 20,000 ¥o JEIHE Hed 1 ek 3,000 Fo FIH T S=1 T o1

320/ISS/112A
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OPTION-II
IEETE M|

( Accounts of Non-trading Organisations )

( TR-zamaTiieR wEeneT & @ )

’

18. (a) During 2005-06, locker rent received was Rs 75,000. Calculate the
amount of locker rent to be posted to the Income & Expenditure A/c for

the year ending 31st March, 2006 : 5
Rs
Outstanding locker rent on 31st March, 2005 12,000
Outstanding locker rent on 31st March, 2006 8,000
Advance locker rent on 31st March, 2005 6,000
Advance locker rent on 31st March, 2006 11,000

T 2005-06 % IRE 75,000 Fo AR fhuam yTw Tk ol 31 °1=, 2006 ! GHH
B A a9 % U g-=mm @ § S are R aftn foret S, sweRt e

$l|§lﬂ .
%o
31 9, 2005 @ 37ed Al 12,000
31 4™, 2006 i 27 @i R 8,000
31 9, 2005 @1 370m et 6,000

31 ", 2006 1 3TH Tt R 11,000

(b) Explain briefly ‘Endowment Fund’. On which side of the Receipts &
Payments A/c is it shown? Elucidate its treatment in the Income &
Expenditure A/c or the Balance Sheet, as the case may be. 5

‘gitem &’ fit w9 § e fifse) wit @ e @ % e R g e s
27 3% FTAER Hl, AF-=59 @d A¥a Feufa-faawo 4, S off feafa 2, e fifs
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(c) From the following Receipts & Payments A/c of a club and from the
information supplied, prepare Income & Expenditure A/c for the year

ended 31st December, 2006 and a Balance Sheet as on that date : 10
Receipts & Payments A/c
for the year ended 31st December, 2006
Receipts Amount Payments Amount
Rs Rs

To Balance b/d 9,000 |By Rates & Taxes 9,000

» Subscriptions : » Investments 40,000

2005 6,000 » Salaries 14,000

2006 30,000 » Upkeep of Lawn 6,000

2007 4,000 40,000 » Conveyance 13,000

» Miscellaneous Receipts 14,000 » Balance c/d 2,000
» Interest 7,000
» Entrance Fees 14,000

84,000 84,000

Additional information :

(i) The club has 40 members

Rs 800

each paying an annual subscription of

(i) Subscriptions outstanding on 31st December, 2005 were Rs 9,000

(i) On 1st January, 2006, the club owned Land & Building valued at

Rs 1,75,000; Furniture—Rs 40,000 and Books—Rs 12,000

(iv) On 31st December,

Rs 6,000

320/ISS/112A
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el fod gu Wit W@ e @ ¥ qen TS a9 31 'R, 2006 w EHE 99 %
e -2 w@rar qun <€ fafy = feafa- ﬁram?iwﬁﬁm

ITfe TF I @rdr
31 fegmr, 2006 F GHIW a9 & for@
it afsr A 3T
%o %o

9 b/d 9,000 | W@ T 9,000
=T IEIERIk] 40,000
‘ 2005 6,000 I 14,000
2006 30,000 A 1 W@-TEE 6,000
2007 4,000 40,000 | ared 9 =Y 13,000
[EIEERIEEI 14,000 | 3w c/d 2,000

=] 7,000

BENRIET 14,000
84,000 84,000

St G :

(i) 9 F 40 T T AT YA® 800 Fo AT T T T HeT
(i) 31 fe@mr, 2005 F 37eq =< F TR 9,000 Fo off

(iii) 1 Sad, 2006 1 I % TE 1,75,000 Fo Yoo o H T Wad o, Hf=K 40,000
Fo qUT J&Ih 12,000 Fo 7 i of

(iv) 31 @R, 2006 1 T4 a4 6,000 Fo o

* Kk Kk
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